Barry:

The data you provided for the Paraloid Sealer is:

Paraloid  B-66, 100%                                
22.0  grams    = 22%
          Xylene                                                        16.0  grams    =  16%
          Acetone                                                      31.0  grams    =  31%
          PCBTF*                                                      31.0  grams    =  31%





           100.0  grams
The data sheet provides a VOC of both 400 g/L and 395 g/L.
The equation to calculate the VOC of a coating, less water and exempt compounds is:

VOC (g/L) 
(less water and exempt) =                   (100 - %Wt. solids - %Wt. water - %Wt. exempts) x Dc                                  
                                            {1 - %Wt water x Dc   -  %Wt Exempt1 x Dc  -  %Wt Exempt2 x Dc} x 100





        Dw                              De1                            De2
Where Dc = Density of the coating (g/L). This is the same as the weight per gallon, (WPG)


Dw = Density of water (G/L)


De1 = Density of acetone (g/L)


De2 = Density of PCBTF (g/L)

Since the formula doesn’t mention water, these values must be zero.

I went online to look up the densities of Acetone and PCBTF (Oxsol 100 by Oxychem) 

Acetone = 790 g/L

PCBTF (Oxsol 100 by Oxychem) ) = 1,340 g/L

Assuming that Dc, (the density of the coating) is 1,000 g/L

VOC (g/L) 

(less water and exempt) =                   (100 - 22 - 0 - 61) x 1000                                  
                                            {1 - 0   -  0.31x 1000  -  0.31 x 1000 } x 100





           790                 1,340




=  _           16,000 g________ 

                                              {1 – 0 -   0.39 – 0.23} x 100



=  16,000 g/38 L




=  421 g/L
Why does this result differ from either the 400 g/L or 395 g/L stated on the data sheet? Here are some possibilities:

1. I used the density of Oxsol 100, which is a trade name product formerly manufactured by Oxychem.  It is possible that the density of the PCBTF supplied for the sealer was not Oxsol 100 but some other version of PCBTF that has a slightly different density.

2. For purposes of the calculation I assumed a density for the sealer of 1,000 g/L, but nowhere did the vendor state this.  It was a long shot that allowed me to demonstrate how the calculation is performed.  Of-course, if the density is not 1,000 g/L then the correct value must be substituted.

3. The vendor might not have calculated the VOC content as I did, but rather performed an EPA Method 24 analysis.  This is the only official method for determining the VOC of a coating.  
Therefore, don’t be disappointed that you didn’t get the same value as the vendor.  Too many assumptions were used.  For calculating the VOC, less water and exempt, the equation given above is correct!  Inaccuracies are either due to calculation errors or false assumptions.

I hope this helps.

Best wishes,

Ron Joseph
